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= 64 4A148 (B)

XevESTNTHST

BEAE . HARYTAHX (RFEDEE) SmMAK: 68A (BIE: 66N - &iE:2A)

HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)

RLA—IL: 0T @@E®DO® IN @OHBB®®

RIRELRE : R F U THA—FK(JORIR) - Hov bRy y ERl - %0 65 4R148 (B)
JIE 52 ZmEA ouT IN GROSS HDCP NET k=
B B ah *’e‘i 45 43 88 | 22.8 | 65.2
HEH BK —F 44 43 87 | 21.0 | 66.0 BG
3 I | /MM FFEA 54 49 103 | 34.9 | 68.1
4 | AR B— 49 45 94 | 25.8 | 68.2
5 i |HHt &= 43 46 89 | 20.6 | 68.4
6 i |{1Ek — 43 47 90 | 21.6 | 68.4
1 5 AE fM— 50 48 98 | 27.6 | 70.4
8 i Kith ®i& 46 45 91 20.5 | 70.5
9 i Bk K— 47 46 93 | 22.5 | 70.5
10 fiz | B5F 5 47 45 92 | 21.4 | 70.6
11 £z |~ BA%E 47 47 94 | 22.9 | 71.1
12 fi1 | EIE X# 46 94 100 | 28.5 | 71.5
13 47 |fEmk BE— 49 49 98 | 26.0 | 72.0
14 61 |8 E— 44 91 95 | 22.8 | 712.2
15 i | F# F15H 49 45 94 | 21.3 | 712.1
16 i |/NE =8 50 50 100 | 27.2 | 72.8
17 61 |/l 1§58 50 47 97 | 24.0 | 73.0
18 iz ||l F— 50 93 103 | 29.5 | 73.5
19 6 | IUA (& 48 49 97 | 23.2 | 13.8
20 4 | 3FE EH 95 48 103 | 28.9 | 74.1
21 4 £ RX 56 50 106 | 31.9 | 74.1
22 {1 |l BH 50 49 99 | 24.5 | 74.5
23 i | BH ZE 50 45 95 | 19.6 | 75.4
24 i | KHE RIL 50 50 100 | 24.3 | 715.1
25 i | H ERH 96 4] 103 | 27.1 | 75.9
26 {1 |fEH 4 o1 50 101 24.9 | 76.1
27 Hi |[ffTA & o4 o1 106 | 28.4 | 76.6
28 i | BEE RE 45 92 97 | 20.4 | 76.6
29 i1 |/ME IESA 52 45 97 | 20.3 | 716.17
30 i #E= H 48 49 97 | 20.0 | 77.0
31 i |BE M8 52 o7 109 | 31.8 | 77.2
32 i |5k #i& 54 91 1056 | 27.3 | 11.1
33 fu £k B— 51 52 103 | 26.3 | 71.1
34 1 FE i 47 50 97 | 19.1 | 71.9
35 fii | KiE BE 51 48 99 | 20.4 | 78.6
36 5 | BEA F— 92 o1 103 | 24.1 | 78.9
37 i |5A ®BE 92 46 98 | 19.0 | 79.0
38 fi | fRHEH HFAER 60 47 107 | 28.0 | 79.0
39 i | BE BRE 54 48 102 | 22.9 | 79.1
40 4z | =ik BE 50 51 101 21.8 | 79.2




Al BT R

BIEES - £ 65 47148 (A) XY VESATLIYST
BEAE . HARYTAHX (RFEDEE) SmMAK: 68A (BIE: 66N - &iE:2A)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
RLA—IL: 0T @@E®DO® IN @OHBB®® 2/2
RIRELRE : R F U THA—FK(JORIR) - Hov bRy y ENml . &% 64 48148 (B)

(-2 ZEmEA ouT IN GROSS HDCP NET k=

4L HEER @ 49 91 100 20.4 | 79.6

42 41 BH B# 53 46 99 19.0 | 80.0

43 {2 EHI EX 93 49 102 21.9 | 80.1

44 f1 BEO Xt&E 47 95 102 21.9 | 80.1

45 f1 | ERk FIE= 96 o/ 113 32.9 | 80.1

46 L /MR FE 96 90 106 25.3 | 80.7

47 1 | = H HE 95 46 101 20.2 | 80.8

48 i FERK B— 47 48 95 13.4 | 81.6

49 I | EAEX R— 53 58 111 29.4 | 81.6

50 fi | KiF L5 53 56 109 26.9 | 82.1

51 i [1EH X 53 49 102 19.7 | 82.3

52 fif | &1l IEBA 56 47 103 20.6 | 82.4

53 fi | &HH 1E*E 52 52 104 20.9 | 83.1

54 {1 | Kith & 60 91 111 27.7 | 83.3

55 i | =@ BEAN 95 55 110 26.4 | 83.6

56 fii | K#F H=8D 94 50 104 20. 1 83.9

57 i | =% K= 56 57 113 27.9 | 85.1

58 I BEH & o1 51 108 22.8 | 85.2

59 i | B IRKE 62 48 110 23.7 | 86.3

60 {1 | E45 & 55 93 108 21.0 | 87.0

61 fi | Kfa {88 64 60 124 36.4 | 87.6

62 i A K HE 63 62 125 36.4 | 88.6

63 i | fmH E— 57 54 111 21.7 | 89.3

64 41 | &l & 59 62 121 31.0 | 90.0

65 i | AH F— 53 99 112 20.3 | 91.7

66 i /IMARE 99 99 118 24.8 | 93.2

67 i | HE Fiz 13 65 138 36.4 [101.6

68 i KHERE = 13 66 139 37.3 [101.7




